X1 10,688 MHz (10,712 MHz) Oscillator
Siev
IN1
Alofeo
N/ ANTENNA ~ C36 s
'|| |__| ||' ==C6 —=—c7=—cs gl 2
== C15 I
C1 100n| 1n 100n 100n| 47u ~
(e}
Ic2 = %
L1 L2 L3 REG 7905 (NEG) @
YNV YNV YNV
JREPCEN Lo Lo L 7905
150 210 270 150 (negative)
- C16
= X1 g 100 .. 400p
i <-8v
8,5 MHz Low Pass Filter oo
R1L
o
Ic5
MIX1 E3 H
TUF3-MIXER (MINI CIRCUITS) = ;
3
L = ol | TUF 3 RF Mixer (Mini Circuits) o ol ] input 500 Ohm Output 500 Oh MAX e
10n 3
E 8 g 3 3 Quarzfilt 5
3 a Z w z 3 a Z uarzfilter &
CND Cr= 107 MHz GND
o o < BW = +/- 8 kHz < o R28
R22 IR6 R7 1270
2 (e ADB0Y | A ADB0Y | v .
= AF1
2 ° 2 470 o c10
" . L
7 o 7 ° R23 = =
2 R27 2 47 o 1000 oUTPY
= Ic6
R25 < M 210 R26 < o E 5=
27 27 £ 32
B
= N
20 dB Gain ) IMAX g
9
= = 3
= = . g
< )
RF1
R24 R9
I_—!:D——!:’—
LOINHI = 410
Principle of DRM Demonstration Receiver -
Antenna AFOUt| crystal frequency:
DRM Demonstration Shortwave Receiver (DDSR) V2 — 8,55 MHz Lowpass—| UpMixer [T]10,7 MHz Quarzfilter DownMixer 1 AF Amplifier — If 10,7 WHz Filter with +/-15 kHz Is used, run the
oscillator
above 10,7 MHz of avoid reception of signal. For 12 kHz
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Range 30 kHz .. 20 MHz

External oscillator required 10,8 .. 20 MHz
Upmixing to 1st IF 10,7 MHz with 10 kHz bandwidth
Downmixing to 12 kHz out center frequency

1st Oscillator 10,8 .20 MHz DDS

[10,712 MHz Oscillator

center IF out following frequency is needed:
10700 kHz
+ 12 kHz

=10712 kHz
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